HENGSTLER HENGSTLER @ 2. 22 A

ML HERIREAR
R RE OSBRI TR, FiL R S TH TR,
AD38 HERE OB TEARR
et SR E RIR R TTTRE
S THERVATYER, SR R TR
#3FE (ESD)IEREIRIT RIS ‘ 6 o
eRHIE/Hotline

-> RS AR B E FE T ARt

Ao e Encoders EEDHRAELEET. S0%, SEISE— BRI, “ \ S

+400 666 1802 Installation instructions R
BRI ES (K2) BRAS Rt ZA R EETAR NN, HERAEAHARIR AT E,
. - - ) _ -> RERHIRISERAIREN! RTINS A B E SIERVE R RRgRR R L !
KEMASTXFAMEFMA285, 300385 Y115 /Art No.: 703347-0001 R A e o)y
http://www.hengstler.com.cn BRAVer. B BRI E, FRIEFAIRT, TASEUCRREREFALRIRIAIIRIA,
E-mailinfo@hengstler.com.cn -> REANTRE! EfEIREPIHER I,
EBR{EFIERANRIA MBS
Fortive Setra-ICG Tianjin Co. Ltd. European Sales Representative -> HE B RANERIRIEE P TF.
Weiwu Road 28, TEDA Micro-Electronics Industrial Park Hengstler GmbH RiRiGE: TAdEHizs
300385 Tianjin/ China Uhlandstr. 49 D-78554 Aldingen/ Germany YE i T RO R R PRETE IS FR ESARIMELAR (SELV).

http://www.hengstler.com.cn

@

XA 2P PEE B AT AR A A XA G 5 25 1O AR o
YR7T LAAAD3SIH I T SRAG S 25 B, 7T UK R FRATT B A 3t T 3

2. Safety &

Authorized persons

i}

The encoder should only be assembled and dismantled by a qualified electrician, as the unit contains sensitive electronic circuits.
Risk of injury due to rotating shafts
Hair and items of clothing may become caught up in rotating shafts.

->Prior to commencing all works, disconnect all power suppliers and ensure that the working environment is Safe!

www.hengstler.com.cn Risk of destruction due to ESD
Observe Precautions for ESD Handling. The Encoder, including housing is ‘ 6 o
an electrostatic discharge sensitive device. >
@ 1. Preface .
->Do not touch plug contacts or electronic components!
These installation instruction are provided for the connection and starting procedure of your hollow Risk of destruction due to mechanical overload
shaft encoder. Rigid mounting will give rise to constraining forces which will permanently overloaded the bearings.
You will get further information from the AD38 datasheet, on request or on download from our Internet -> Never restrict the freedom of movement of encoder! Use only the enclosed sheet steel springs or a suitable coupling to secure the unit!

:vl:[:v.v.hengstler.com.cn Risk of destruction due to mechanical shock
Violent shocks, e.g. due to hammer blows, can lead to the destruction of the optical sensing system and the ball bearings.
-> Never use force! Assembly is simple provided that correct procedure is followed.
Risk of destruction due to overloading
-> The unit may only be operated within the limits specified in the technical data.
Fields of application: industrial processes and controls.
Over voltage at the connecting terminals must be limited to over voltage-class-Il values (SELV).
The connecting cable is not for dragline mounting, only for fix mounting.
This encoder is a supply part destined for mounting to an appliance (motor, machine). It is not provided for customer sale.

Manufacturers integrating this encoder to their facilities are responsible as well for compliance with CE guidelines as for the CE mark.


http://www.hengstler.com.cn/
mailto:info@hengstler.com.cn
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/

3. R%E / Assembly

S 4

®

|
'
i
i
‘—‘—i— HE[ IGSTLER

1
TN T N 2E T
CCW rotate the lip and remove it
2XM3x10 Md=0.8+0.1Nm 3

—

3. 1 ERAYPLECR N/ Required mating dimensions

2% M3X10
/M:O SNmt0. |

@29

@D 40£0.2

%

4. #3E) / Dismounting

N

oz‘

% 5‘.‘] ;;J:‘
f 1=

QV "
>2
Bl 4.540. 1
@L ________________ = —
&
(152
@[___ .............. = —
i
-@) BT ==
iy

&\

| JGSTLER

wﬂ
Ix

@O

1.0J 40mm Tether

M5x20 SOCKET
HEAD SCREW

==}

2% M3X10
r._.") /MZU.SNmiO.INm

@55£0.2

@ a4

540, |

R

HE[ I
XXX

TGN e e T R T

CCW rotate the lip and remove it

2
M4X16 SOCKET HEAD
Md=1.8+0.2Nm
b =) —
4
GRS 1 et 4 b 2EF

CW rotate the lip and install it

L.0J 55mm Tether

M4x10 SET SCREW
- %, — —

A FAMSHRET s i o A AL
e TR Ok
USE M5 SCREW REMOVE

ENCODER FORM THE HOLLOW
TAPER SHAFT

4. #7ED (4£)/ Dismounting continue

7 8
&
S| =—t=—F} —>
o { I e 2 9 T
3% — B
:l i B CW rotate the lip and install it
5. BAREHR / Technical data
e E 5V+5% (SELV)  HFHEE -30°C~+80°C TERE (MT) -40°C~+115°C
Operating Voltage Storage Temperature Operating Temperature (M1)
RS <1W BAEXEE 85% WERE (M2) -40~+105°C @ 6,000rpm
Power consumption Max. relative humidity Ambient Temperature (M2) -40~+100°C @ 8,000rpm
RaiEiR 10,000 PRM BRANETEREE 2,000 m -40~+95°C @ 10,000rpm
Max Speed Max. Altitude for operation
AVMBARANE 0.5 mm SRER 2 \
Mating shaft axial move- Degree of pollution n "
SR AEQED TIR 0.05 mm =8 709 r]
Mating shaft runout Weight i
TR ER IP40 )
Enclosure rating
6. EBSZEHE / Connection diagram
! —]
1A 2 Voilet Temp+ 1B 22/ Voilet/Black  Temp- B E B -
2A /% Green/Black  DATA- 28 %  Green DATA+ B E e E—
3A 1%/ Blue/Black CLOCK- 3B % Blue CLOCK+ i
4A T Red UB+ 4B Black GND
7. 1J84X48 / Ordering information
7.1eh3C
B PR HEEBE EZ, PSR, W BERE pct:3
A || [ ] [ | ||
AD38 0024 24 {7575 A 5VDC 1.0J  40mmi#E H, IP40 BE BiSS-C B #iEAMAIESE H#M
PCBHEE,0.5K F 45
1224 24 (BB +12 (L ZE 9 mm 1:1047L BT BISS-C + #1488 E0-SKaM
mE
L.0J 55mmag% &, IP40
9 mm 1: 108 7L
BT R IXEN AN ILAD
7.2 English
Type Resolution Supply Voltage Flange,IP, Shaft Output Connection
I A | | |
AD38 0024 24 Bit ST A 5VDC 1.0J  40mm Tether, IP40 BE BiSS-C B 8 pole PCB con-
tor + 0.5 bl
1224 24 Bit ST +12 Bit MT 9 mm 1:10 hollow shaft | BT BISS-C + Temper-| | coo + oom cabie
f
LOJ 55mm Tether, IP40 alure sensor
*BT need driver function
9 mm 1:10 hollow shaft
support




